ﬁgﬁ NI (DE) kSRS
GSD (China) Co.,Ltd.

RSW/TRS
18 =% % XA

RSW/TRS pressure boost roots blower

www.gsd.net.cn




GREEN SAFE DEVELOPMENT

RSW/TRS BEZ &R XA
RSW/TRS pressure boost roots blower

R NI Suction inlet tr%/ﬁ\ Features

NEMETBE K,

42 50mm~300mm (2"~12")

ME: RSW 2.5~171.1m3/min; TRS 1.14~166.49m3/min
[E73: —Ez(RSWELE]IX10000mmAq (1.0kgf/cm?)

— E&ZCTRSEL B13£20000mmAq (2.0kgf/cm?)

HESETEMm5,

RS ERIE, (RIREHERE,

NEFRTE, FESTIRXTXAZ F2m/N,

BRI, BEE R,

MEERRE, Tk,

WRIREISRINTREE, Hik, RKIRS.,

IS RAEE, eSS

MR RARIIBIR M T, TREEECMEE,
—AEINI5ER, EERAE, HAEEEa2REBE,
BFERACRENIGT, AIUEREERENSAaAnNEE
HERE, BMERXVSESTHANGLHERSE .
TRSHF & XA BBz T, @ xigE, XL SE .

JRIE Theory SRBISHRG, TN E—R AR SRR,
RSWTRSHES AN g, HENR HAEBAONRE<0C, BIRE—BRHERET.

T ————— - o N o

Echnic, one time for all
method, to enhance the

Puesign can efficiently reduce the tempe-
Ubricate oil in the oil box and gear case, and then
Pre the blower’s gear and shaft having a long service life
Bperating under a high pressure,

TRS is a two-stage blowers in series, through two times press-
urize, the air in the blower can get a high pressure. Through
the condenser’s cooling system, the air discharged from the
one-stage blows outlet can be efficiently cooling down, the tem-
perature of the air at the suction inlet of the second stage blower
can be below 40°C, which can make sure the regular operation
of the second stage blower.

e

gcooled in
e RSW blower
iction inlet to




GREEN SAFE DEVELOPMENT

SN LEFAE] Externality construction

2 No. B Name
1 == Motor
2 ANCEE28  Inletsilencer
3 BirE Belt cover
4 i Pressure release valve
; 5 —BE T-joint
6 peatin ! Check valve
7 RENKE Cooling pipe
8 XA AR blower body
9 JECEE Bottom case
9
No. AR Name
6 1 ANEUEERR  Inletsilencer
2 & Eial=-] Belt cover
3 TRS—E&MA  TRS one-stage blower
7 4 REKE Cooling pipe
5 JEC/EE Bottom case
6 R 2R Condenser
8 7 BB Motor
8 TRSZEEMA  TRS two-stage blower
9 iR Pressure release valve
0 10 —BE THoint
3 4 5 10

N

#U-=195 BA Type description

RSW/TRS 65

I— 12 (mm) Diameter (mm)

RSW/TRSIZ[EZ 7 Xl RSW/TRS pressure boost roots blower

02






VAN
M4 BESEN Performance parameters

Qs(m3/min) Pressure(mmAq) La(kW)

1450 264 537 257 5.99 2.50 6.61
1550 290 5.74 2.83 6.40 2.76 7.06
RS5O 1650 3.16 6.11 3.09 6.82 3.02 7.52 4
1750 342 6.48 335 723 3.28 7.98
1850 3.68 6.85 361 764 354 843
1950 3.94 7.22 3.87 8.06 381 8.89
1350 3.14 6.38 3.05 7.2 297 7.87
RSWES 1450 348 6.85 339 7.65 331 8.46 6
1550 3.82 732 373 8.18 3.65 9.04
1650 4.16 7.79 4.07 8.71 399 9.62
1300 5.87 11.03 5.75 12.30 5.64 13.57
1400 6.47 11.87 6.35 13.24 6.24 14.61
1500 707 12.72 6.95 14.19 6.84 15.66
RSSO 1600 767 13.57 755 15.14 744 16.70 8
1650 797 13.99 7.85 15.61 7.74 17.22
1750 8.57 14.84 845 16.55 8.34 18.27
1850 9.16 15.69 9.05 17.50 8.94 19.31
1950 9.76 16.54 9.65 1845 9.54 2035
1200 742 14.47 7.26 16.12 711 17.76
RSWI00 1300 8.26 15.68 8.10 17.46 7.95 19.24 10
1400 9.10 16.88 8.94 18.80 8.79 20.72
1500 9.94 18.09 9.78 20.14 9.63 22.20
1180 11.67 20.54 11.49 2291 11.33 2528
1250 12.53 21.76 12.35 2427 12.19 26.78
1320 13.39 2297 13.22 2563 13.05 28.28
1390 14.25 2419 14.08 2698 13.91 29.78
RSW125A 1470 15.23 25.59 15.06 28.54 14.90 3149 12
1560 16.34 27.15 16.17 30.28 16.00 3342
1650 17.44 28.72 17.27 3203 17.11 3535
1750 18.67 3046 18.50 3397 18.34 3749
1850 19.90 3220 19.73 3591 19.57 39.63
1180 17.32 30.02 17.09 3348 16.87 36.94
1250 18.58 31.80 18.35 3547 18.12 39.14
1320 19.84 3358 19.60 3745 19.38 4133
1390 21.10 3536 20.86 3944 20.64 43.52
RSW125 1470 22.53 3739 2230 41.71 22,08 46.02 12
1560 24.15 39.68 2392 44.26 2369 48.84
1650 25.77 4197 2553 46.82 2531 51.66
1750 27.57 44.52 2733 49.65 27.11 54.79
1850 29.36 47.06 29.13 5249 2891 5792
1180 24.09 41.00 2379 45.73 2351 5046
1250 2571 43.30 2541 48.29 2513 5329
RSW150 1320 2733 45.59 27.03 50.86 26.75 56.12 15
1390 29.18 4822 28.89 5378 2861 5935
1470 3127 5117 3097 57.08 30.69 62.98
990 3061 52.09 30.23 58.10 29.88 64.11
1050 32.84 55.25 3246 61.62 3211 67.99
1110 35.07 5840 34.69 65.14 3434 71.88
RSW200A 1180 37.67 62.08 3729 69.25 36.94 7641 15
1250 40.27 65.77 39.89 73.36 39.54 80.95
1320 42.87 69.45 42.50 7746 42.14 8548
1390 4547 7313 45.10 81.57 44.74 90.01




|\$ HE 9& Performance parameters

Qs(m3/min) Pressure(mmAq) La(kW)

4039 66.97 3997 74.70 39.57 8243
1050 4325 71.03 4283 79.23 4244 87.42
1110 46.12 75.09 4570 8375 4530 9242
RSW200 1180 4947 79.82 49.05 89.03 48.65 98.24 25
1250 5281 84.56 5239 9432 51.99 104.07
1320 56.16 89.29 55.74 99.60 5534 109.90
1390 59.50 94.03 59.08 104.88 58.68 115.73
1050 58.80 94.71 5831 105.63 57.84 116.56
1110 62.62 100.12 62.13 111.67 61.66 12322
1180 67.08 10643 66.59 118.71 66.12 13099
RSW250 1250 71.54 112.75 71.05 125.75 70.58 138.76 25
1320 76.00 119.06 7551 132.80 75.04 146.53
1390 80.46 125.37 7997 139.84 79.50 154.30
1470 85.56 132.59 85.07 147.89 84.60 163.19
600 64.17 11354 63.19 139.29 62.27 161.39
700 7754 13247 76.56 159.94 75.64 184.23
800 90.90 151.39 89.93 180.59 89.01 207.06
900 104.27 170.32 103.30 201.25 102.38 229.90
RSW300 1000 117.64 189.24 116.67 221.90 115.75 25273 30
1100 13101 208.16 130.04 24255 129.12 27557
1200 14438 227.09 14341 263.20 14248 298.40
1300 157.75 24601 156.77 283.85 155.85 321.24
1400 171.12 264.94 170.14 304.51 169.22 344.07

B o




E5E

BS
Type

TRS50

10000mmAq

Qs

La

11000mmAq

Qs

La
507

12000mmAq

Qs
145

13000mmAq

Qs
141

La
599

24 Performance parameters

14000mmAq

Qs

15000mmAq  16000mmAq

Qs
135

La

Qs

La

17000mmAq 18000mmAq  19000mmAq. 20000mmAq

Qs Lla Qs La Qs La Qs La

548

172

647

162

588

203

198

6.95

188

6.28

229

224

743

214

669

255

250

791

240

281

276

839

266

750

307

302

955

292

791

332

327

322

1006

TRS65

7.9

272

795

268

263

256

787

306

858

302

297

290

339

922

335

330

323

40

373

985

369

364

357

1049

403

398

TRS80

1530

395

16,58

476

1786

536

1914

596

2042

6.55

56

2104

2232

2360

2488

TRS100

1837

1990

2043

58

22%

TRS125

3543

3800

4025

4251

471

4734

5024

5314

56.36

59.59

TRS150

4816

5166

5472

5779

6085

6436

TRS200A

7839

83.14

8790

9344

9898

10452

11007




VAN
M BESEL Performance parameters

Qs(m3/min) Pressure(mmAq) La(kW)

990 | 3610 | 7466 | 3565 | 8213 | 35.20 | 89.59 | 3480 | 97.06 | 3440 |10452| 337010995 | 3301 | 11538 3283 | 12489 3265 (13439 | 3175 |1 3084 14932
1050 | 3890 | 7919 | 3845 | 87.10 | 3800 | 9502 | 3760 | 10294 | 3720|11086| 3648 |116.74| 3576 | 12262| 3564 | 13258| 3551 14253 | 3461 |15045 | 3371 | 15837
1110 | 4160 | 8371 | 41.15] 9208 | 40.70 | 10045| 4025 | 10882 | 39.80 [117.19| 39.16|12353 | 3851 [129.86| 3845 | 140.27| 3838 |150.68 | 3748 |159.05| 3658 | 16742
TRS200 1180 | 4480 | 8899 | 4435| 9789 | 4390 | 106.79| 4350 | 11569 | 43.10 | 12458 | 4241 |131.11 | 41.72 |137.63| 41.73 | 14891| 4173 [160.18 | 4083 |169.08| 3992 |177.98 135
1250 | 4800 | 9427 | 47.55|10370| 47.10 | 113.12| 4670 | 12255 | 4630 [13198 | 4562 {13903 | 44.94 | 146.08| 4500 | 157.88| 4507 16968 | 44.17 |179.11| 4327 | 18854
1320 | 5120 | 9955 | 5075 109.50| 5030 | 11946| 4990 | 12941 | 49.50 | 13937 | 4882 {14695 | 48.15 | 15452 | 48.28 | 166.85| 4842 (179.18 | 4752 |189.14| 4661 19909
1390 | 5440 |10483 | 5400 | 11531] 5360 | 12579| 5315 13627 | 527014676 | 5203 | 15486 | 51.36 | 16297| 51.56 | 17583| 51.76 18869 | 50.86 |199.17 | 4996 | 20965
990 | 4960 | 9799 | 4915 | 107.79| 4870 | 117.59| 4820 127.39| 47.70|137.19| 47.18 | 14699 | 4667 |156.79| 46.14 | 166.59| 45.60 17639 | 4505 |186.18 | 44.50 | 19598
1050 | 5330 (10393 | 5280 | 11432| 5230 | 12472| 5185 | 135.11 | 51.40 [ 14550 | 5089 {15590 | 5038 [ 166.29| 49.86 | 176.68| 4935 (187.08 | 4884 |197.47 | 4832 | 20786
1110 | 57.00 {10987 | 5650 | 120.86] 56.00 | 13184| 5550 | 14283 | 55.00 | 15382 | 5454 {16480 | 5409 | 175.79| 5359 | 186.78| 53.10 [197.77 | 5262 |208.75| 5215 |219.74
TRS250 1180 | 6130 | 11680 | 60.80 | 12848| 6030 | 140.16| 5980 | 15184 | 593016352 | 5886 |175.20 | 5841 | 18688 | 57.94 | 198.56| 5747 21024 | 57.04 122192 | 5661 | 23360 150
1250 | 6550 (12373 | 6500 136.10| 64.50 | 14847| 6405 | 160.85 | 63.60 |17322| 6317 {18559 | 6274 |197.96| 6229 | 210.34| 6184 22271 | 6145 |235.08| 6107 | 24745
1320 | 6980 |130.66 | 6930 | 143.72| 6880 | 156.79| 6835 |169.85 | 67.90 18292 | 6748 {19598 | 67.07 [209.05| 66.64 | 222.11] 6621 (235.18 | 65.87 | 24825 | 6553 (26131
1390 | 7410 (13758 | 7360 | 151.34] 73.10 | 165.10| 7255 | 17886 | 7200 |19262| 71.70{206.38 | 71.39 |220.14| 70.99 | 233.89| 7058 |247.65 | 7028 |261.41| 6999 |275.17
700 | 7390 |169.83 | 7290 | 18460| 71.90 | 19937| 71.05 | 21598 | 70.20 {23260 | 6942 |246.38 | 6865 |260.17 | 6747 | 27643| 6630 {29269 | 65.13 |308.95| 6397 (32521
800 | 8730 |19409| 8630 | 210.97| 8530 | 227.85| 8445 | 24684 | 8360 | 26582 | 8281 |281.58| 8202 | 29733 | 8084 | 31592 7967 |33450 | 7850 |353.08| 7734 |371.67
900 | 1008021835 | 9980 | 237.34| 9880 | 25633| 97.95 | 277.69 | 97.10{299.05| 96.24 |316.78 | 95.39 |33450| 9421 | 355.41| 9304 |37631| 91.87 |397.22 | 90.70 |418.13
TRS300 1000 | 1141024262 | 113.10] 263.71| 112.10 | 28481| 111.25|308.54 | 1104033228 | 109.58|351.97 | 108.75 | 371.67 | 107.58 | 394.90| 10641 [418.13 | 105.24|441.36 | 10407 | 46458
1100 | 127.60|266.88 | 126.60] 290.08| 12560 | 313.29| 124.75|339.40 | 12390|36551 | 12301|387.17 | 122.12 {40883 | 120.95 | 434.39| 119.77 |459.94 | 11861|48549 | 117.44 | 51104
1200 | 141.00(291.14 | 140.00] 316.46| 139.00 | 341.77| 138.15|370.25 | 13730|39873 | 136.40|422.37 | 13549 | 446,00 | 13432 | 473.88| 133.14 [501.75 | 131.98]529.63 | 13081 | 557.50
1300 | 15460|31540 | 15360 342.83| 15260 | 370.25| 151.75 40111 | 15090| 43196 | 14988| 457.57 | 148.86 | 483.17| 14769 | 513.37| 146,51 543,56 | 14535|573.76 | 144.18 | 60396
1400 | 1664933966 | 16542| 369.20| 164.34 | 398.73| 16342|431.96 | 16251146519 | 162.37|492.76 | 162.23 | 52033 | 161.05 | 552.86| 159.88 |585.38 | 158.71]617.90 | 157.55 | 65042

200

RSWHMZR T & RSW Installation dimensions
i A El‘ftll:lj ] /\ﬁ/ iEIt%% (RSW with horizontal outlet silencer)

FREMEER T, (RYBTRENEE)

Anchor bolt box(size set according to different types)
A B | e eh
i
saneds |y
- | Blovers cenerne
wRAOSPLE [of
Air outlet centerline " "
it it
PN
M
T
S “¥H
8{ N =}
n-@d1 =3 S

%/x%’;ﬁ

a5 < —_—
Damping pad

EA{1L Unit: (mm)

RSW40 235 | 274 | 25| 350 | 104 | 741 | 56 | 140 | 500 - 700 | 93 266 | 150 | 160 | 595 | 18 | 110 | 4-@18 | 4-M12x160
RSW50 300 | 314 | 20| 412 | 1035 | 921 | 80 | 140 | 520 = 700 | 93 231 | 150 | 180 | 595 | 18 | 125 | 4-@18 | 4-M12x160
RSW65 323 | 344 | 20| 412 | 104 | 924 | 80 | 152 | 520 - 700 | 93 | 2085 | 150 | 208 | 595 | 18 | 145 | 4-@18 | 4-M12x160




EA{i] Unit: (mm)

RSW80 1065 | 1241 180 1125 180 160 | 8-@018 | 4-M12x160
RSW100 426 | 370 | 20 | 482 | 110 | 1245 | 80 | 180 | 700 = 700 | 131 194 | 180 | 280 | 795 | 22| 180 | 8-@18 | 4-M16x220
RSW125A | 485 | 402 | 24| 602 | 135 | 1840 | 100 | 250 | 950 - 950 | 178 | 291 | 250 | 330 | 1260 | 22 | 210 | 8-@18 | 4-M16x220
RSW125 505 | 462 | 24| 602 | 1575 | 1835 | 100 | 262 | 950 = 950 | 181.5 | 271 | 250 | 330 | 1260 | 22 | 210 | 8-@18 | 4-M16x220
RSW150 564 | 5216 | 24| 602 | 1635 | 1860 | 100 | 250 | 950 - 950 | 182 | 212 | 250 | 378 | 1260 | 22 | 240 | 8-@23 | 4-M16x220
RSW200A | 519.5 | 521 |30 | 790 | 198 | 2285 | 160 | 358 | 1300 | 650 - | 3125 | 441 | 250 | 530 | 1645 | 25 | 295 | 8-223 | 6-M20x300
RSW200 565 | 571 | 30| 940 | 194 | 2285|160 | 345 | 1300 | 650 - 310 | 391 | 250 | 530 | 1645 | 25| 295 | 8-@23 | 6-M20x300
RSW250 695 | 646 | 30| 940 | 216 | 2520 | 160 | 356 | 1400 | 700 = 270 | 490 | 250 | 450 | 1750 | 38 | 350 | 12-@23 | 6-M20x300
RSW300 840 | 688 | 35| 1030 | 300 | 2955 | 250 | 510 | 2000 | 1000 | - 321 485 | 300 | 510 | 1850 | 38 | 400 | 12-223 | 6-M20x300

7 1. HRSW-150ECEB A ThZEFES5kWEL L, RNEKEER S 518,
2.2HRSW-200. RSW-200AECEBHIINZRAEIOKWLL £, KHERER N 518o

Note: 1.When the motor power of RSW-150 is above 55kW, the size of the blower base should be specifically confirmed.
2.When the motor power of RSW-200 and RSW-200A is above 90kW, the size of the blower base should be specifically confirmed.

g2 _L_UIH [p: %E(RSW with vertical outlet silencer)

MEBHBIRILT, (RIIETRHEE)
Anchor bolt box(size set according to difieront types)

BRI B

Expansion bol locaion f =
+ ¥
w
+ 115 Tower irains
LM L" L'| L"
—P_| N
M
A B
O]
-
=100 Q 100
D E D BER

Damping pad

Damping pad

511 Unit: (mm)

RSW50 314 1201412]103.5| 921 |163.5 140520 231 |150|180| 595 | 18]140|125| 4-218| 63.5| 4-M12x160 | 4-M12x120
RSW65 323 | 344 |20]412| 104 | 924 | 154 | 80 |152|520| - | 700 | 93 |2085|150|208| 595 |18|170|145|4-@18| 54 | 4-M12x160 | 4-M12x120
RSW80 383 | 320 |20]482|106.5|1241|141.5| 80 |180|180| - | 900 |112.5| 238 |180|256| 795 |22|190|160|8-@18|41.5| 4-M12x160 | 4-M12x120

RSW100 | 426 | 370 |20|482| 110 |1245| 135 | 80 |180|180| - | 900 |130.5| 195 |180|280| 795 |22|240|180|8-@18| 35 | 4-M16x220 | 4-M12x120
RSW125A| 485 | 402 |24|602| 135 |1840| 145 |100|250|250| - |1150| 178 | 291 |250|330|1260|22|240|210|8-018| 45 | 4-M16x220| 4-M12x120
RSW125 | 505 | 462 |24|602|157.5|1835]167.5/100|262|262| - |1150| 182 | 271 |250|330|1260|22|240|210|8-018| 67.5| 4-M16x220 | 4-M12x120
RSW150 | 564 |521.6|24|602|163.5/1860| 153 |100|250|250| - |1150| 182 | 212 |250|378|1260|22|290|240|8-023| 53.5| 4-M16x220 | 4-M12x120
RSW200A [519.5] 521 |30|790| 198 |2285| 202 |100|358|358|650| - | 313 | 441 |250|530|1645|25|350|295|8-@23| 102 | 6-M20x300 | 4-M12x120
RSW200 | 565 | 571 |30|940| 194 |2285| 198 |100|345|345|650| - | 310 | 391 |250|530|1645|25|350|295|8-223| 98 | 6-M20x300 | 4-M12x120

A LERSW-150EEBHIhRIESSKWEL L, RAERER S 71,
2.ZRSW-200. RSW-200AFEEBAIHEAEI0KWLEL L, XAERER T S,

Note: 1.When the motor power of RSW-150 is above 55kW, the size of the blower base should be specifically confirmed.
2.When the motor power of RSW-200 and RSW-200A is above 90kW, the size of the blower base should be specifically confirmed.

03 [




TRSYMER T TRS Installation dimensions

el

1

=3

q

A

I

[ [/
=)
/ ‘

:
\\
e

[
fa—
{
il
|
.
S

100

EA{1] Unit: (mm)

TRS50 1150 |2x430] 120 80 184 | 365 | 200 | 565 | 844 | 650 | 1000 | 18 150 160 | 595 | 320 110 4-018
TRS65 1150 |2x430| 120 80 184 | 371 240 | 611 889 | 650 | 1000 | 18 150 180 | 595 | 320 125 4-018
TRS80 1400 |3x300| 250 | 120 | 226 | 414 | 240 | 654 | 1214 | 800 | 1200 | 22 180 | 256 | 795 | 381 160 8-018

TRS100 1400 |3x300| 250 | 120 | 226 | 414 | 250 | 664 | 1214 | 800 | 1200 | 22 180 | 256 | 795 | 381 160 8-018
TRS125 1700 |5%x300| 250 | 120 | 255 | 550 | 350 | 900 | 1790 | 880 | 1479 | 22 250 | 330 | 1260 | 560 | 210 8-018
TRS150 1700 |5x300| 250 | 120 | 255 | 550 | 425 | 975 | 1833 | 880 | 1479 | 22 250 | 330 | 1260 | 560 | 210 8-018
TRS200A 2000 |4x400| 200 | 160 | 358 | 785 | 600 | 1385 | 2173 | 1250 | 2000 | 25 250 | 530 | 1645 | 850 | 295 8-023
TRS200 2000 |4x400| 200 | 160 | 358 | 785 | 700 | 1485 | 2169 | 1250 | 2000 | 25 250 | 530 | 1645 | 850 | 295 8-023
TRS250 2150 |4x450( 175 | 160 | 354 | 785 | 555 | 1340 | 2497 | 1250 | 2000 | 25 250 | 530 | 1645 | 850 | 295 8-023
TRS300 2900 |5%500| 200 | 200 | 500 | 1080 | 600 | 1680 | 2795 | 1500 | 2850 | 38 300 | 510 | 1850 | 1206 | 400 | 12-@23

Hhfi R e

Anchor bolt
GxG
M
M12 160 100x100 RSW/TRS50,65,80,100
M16 220 45 275 120x120 RSW/TRS125,150; RSW125A
M20 300 55 345 150x150| RSW/TRS200A,200,250,300A,300

A EEEARNRY, REZENTIEER, MEHINR.
2.GXGA TRFERMTREFLRT .
Note:1. The note E on the drawing is the minimum size, it shall be deepened properly according to the soill
condition in the installation place.
2.GxGis the size of the preformed holes for the secondary casting.




N EESS

Suction silencer

EA{i] Unit: (mm)

o $550 133 | 150 120 | 155 | 4019 RSW50 TRS50
! — SS65 | 550 | 159 | 190 | 280 | 140 | 175 |4@19| 12 RSW65 TRS65
SS80 | 820 | 219 | 245 | 280 | 150 | 185 | 8019 | 21 RSW80 TRS80
< o8 SS100 | 820 | 245 | 273 | 330 | 175 | 210 |&@19| 27 RSW100 TRS100
$S125 [ 1310 | 273 | 310 | 350 | 210 | 250 |8@23 | 45 | RSWI25(A) TRS125
SS150 [ 1310 | 299 | 340 | 370 | 240 | 280 |8-@23| 52 RSW150 TRS150
. [1] . %;W $S200 | 1500 | 330 | 380 | 370 | 290 | 330 |12:023| 81 | RSW200(A) TRS200(A)
oo/ o $S250 | 1700 | 400 | 480 | 550 | 355 | 400 |12:925| 98 RSW250 TRS250
5300 | 1825 | 500 | 600 | 650 | 400 | 445 |16:925| 135 RSW300 TRS300

ENIUHH

Horizontal outlet silencer

EB{1L Unit: (mm)

&= (JB/T 1.0MPa)
4 ¢ Flange

DS40 595 159 110 145 | 4-018 n TRS50
DS50 595 159 125 160 | 4-018 12 RSW50 TRS65
o DS65 595 159 145 180 | 4-@18 | 135 RSW65
< DS80 795 219 160 195 | 8018 24 RSW80 TRS80 TRS100
DS100 795 219 180 215 | 8018 25 RSW100
DS125 1260 290 210 | 245 | 8-018 48 RSW125(A) TRS125 TRS150
DS150 1260 290 240 280 | 8023 51 RSW150
J£= (JB/T 1.0MPa)

”T T Fange DS200 1645 356 295 335 | 8023 79 RSW200(A) TRS200(A) TRS250

‘ - QE _ N2t DS250 1750 405 350 390 |12-@23| 98 RSW250

- OF _|
DS300 1850 484 400 | 440 |12-@23| 140 RSW300 TRS300

VIVHIDES
Vertical outlet silencer

EA{i] Unit: (mm)

R
oD VDS50 | 420 | 120 | 150 | 140 | 125 | 160 | 4018 | 125 | 160 19 RSW50
c c n-OH VDS65 | 480 | 130 | 175 | 191 | 145 | 180 | 4018 | 170 | 210 27 RSW65
= —3'; |7 = VDS80 | 595 | 145 | 200 | 216 | 160 | 195 | 8-@18 | 190 | 235 36.9 RSW80
T oyl s VDS100 | 660 | 155 | 225 | 267 | 180 | 215 | 8-@18 | 230 | 280 51.8 RSW100
o -:tﬁ j» VDS125 | 800 | 190 | 250 | 280 | 210 | 245 | 8-018 | 240 | 300 65.9 RSW125(A)
1 ! VDS150 | 920 | 210 | 300 | 356 | 240 | 280 | 8-@23 | 290 | 376 99.6 RSW150
Il 5= (JBIT 1.0MPa)
4015 Flange VDS200 | 1050 | 256 | 325 | 406 | 295 | 335 | 8-@23 | 350 | 425 1315 RSW200(A)
IxJ

10 [



k=1

"T" -joint

]9}

QA

n-oF n-QH
Rpg"
{
Q| Q g ror/a Qe
E= A
(JB/T 1.0MPa) 3§E(JIS 10K)
Flange Flange
Relief valve
Il
Rp
Check valve

E{i[Unit:(mm)

HJ40 | 150 | 145 | 110 | 4-@18 | 1/ | 155 | 120 4-019 55 TRS50

HJ50 | 150 | 160 | 125 | 4-@18 | 1'/" | 155 | 120 4-019 58 RSW50 TRS65
HJ65 | 150 | 180 | 145 | 4-@18 | 1/ [ 175| 140 | 4-019 7.5 RSW65

HJ80 | 180 | 195 | 160 | 8-@18 | 1" | 185 | 150 8-019 9 RSW80 TRS80 TRS100
HJ100 | 180 | 215 | 180 | 8-@18 2" 210 | 175 8-019 1.5 RSW100

HJ125 | 250 | 245 | 210 | 8018 2" | 250 | 210 | 8-@23 15.5 | RSWI25(A)TRS125TRS150
HJ150 | 250 | 280 | 240 | 8-@23 2" 280 | 240 8-023 18 RSW150

HJ200 | 250 | 335 | 295 | 8-@23 3" 330 | 290 12-023 23 RSW200(A) TRS200(A) TRS250
HJ250 | 250 | 390 | 350 | 12-@23 3" 400 | 355 12-025 30 RSW250

HJ300 | 300 | 440 | 400 | 12-@23 [DN100| 445 | 400 16-025 45 RSW300 TRS300

A DN100J9E=ER, S5 B/T1.0MPaRER T,
Note:Type DN100 is connect with flange.Refer to JB/T 1.0MPa.

EAL Unit: (mm)

SV11y" 145 RSW40, 50, 65, 80 TRS50, 65, 100
Sv2" 24 185 1 RSW100, 125(A), 150 TRS125, 150
SV3” 30 230 1.6 RSW200(A). 250 TRS200(A), 250
SV100 90 490 29 RSW300 TRS300

L SVIOOREZERE, BEIB/T10MPaEZAT,
Note:Type SV100 is connect with flange.Refer to JB/T 1.0MPa,

EA{i Unit: (mm)

DCV-50 1025 RSW50 TRS50 TRS65
DCV-65 45 18 | 1225 14 RSW65

DCV-80 5) 22 132 08 RSW80 TRS80 TRS100
DCV-100 65 2 158 09 RSW100

DCV-125 %0 22 190 12 RSW125(A) TRS125 TRS150
DCV-150 | 115 | 22 215 15 RSW150

DCV-200 160 | 25 268 26 RSW200(A) TRS200(A) TRS250
DCV-250 | 180 | 38 325 125 RSW250

DCV-300 | 213 38 375 185 RSW300 TRS300




TRSZE =k

TRS elbow

FEZ (JIS 10K)
Flange

Z
8

&

72| <

n-od

|
N UEZ IS 10K)

Flange

s
=
e |

11
/

TRS/% Etes

Condenser
:
B g
al B
i
| |/
T B P o b
[ ] [ ]
‘ JIS, 10K 01‘ ‘ JIS, 10K, D2 ‘
N oo
/EZéSZ =)
Bellows
A n-OH

QF
QE

J£= (JB/T 1.0MPa)
Flange

EA ] Unit: (mm)

TRS50 200 110 155 120 4-319

TRS65 200 155 175 140 4-719

TRS80 220 168 185 150 8-019

TRS100 250 164 210 175 8-019

TRS125 300 202 250 210 8-023

TRS150 320 240 280 240 8-023

TRS200(A) 315 315 330 290 12-@23

TRS250 350 421 400 355 12-@25

TRS300 470 470 445 400 16-@25

811 Unit: (mm)
25 8" 2" 15" 194 200 | 900 660 554 | 3/4" TRS50
30 8" 25" 2" 237 240 | 1000 | 800 594 | 3/4" TRS65
35 10" 3" 3" 193 240 | 1200 | 900 747 1" TRS80
40 10" 4" 3" 199 250 | 1300 | 1000 | 795 1" TRS100
50 12" 5" 5" 355 350 | 1400 | 1200 | 907 1" TRS125
60 14" 6" 5" 405 425 | 1500 | 1120 | 961 1" TRS150
80 16" 8" 8" 600 600 | 1600 | 1200 | 999 1" TRS200A
90 18" 8" 8" 700 700 | 1700 | 1250 | 1077 | 2" TRS200
100 20" 10" 8" 520 555 12200 | 1800 | 1229 | 2" TRS250
140 24" 12" 12" 600 600 | 2600 | 2000 | 1571 2" TRS300
- EA{1] Unit: (mm)

WIT-40 160 ?110 @150 4-218 RSW40 TRS50
WIT-50 180 2125 @165 4-718 RSW50 TRS65
WIJT-65 208 2145 2185 4-718 RSW65
WIT-80 256 2160 2200 8-018 RSW80 TRS80~100
WIJT-100 280 2180 0220 8-718 RSW100
WIJT-125 330 2210 @250 8-018 RSW125(A) TRS125~150
WIT-150 378 @240 2285 8-022 RSW150
WJT-200 530 ©295 @340 8-022 RSW200(A) TRS200A~250
WJT-250 450 ?350 ?395 12-022 RSW250
WJT-300 510 @400 @455 12-@22 RSW/TRS300

2 9




FAi&15BA Applications

JKALIE

Water treatment

FRSRER
FGD

ek

clean gas

il

fresh water

BIRER

limestone
slurry

RULEEIVES

Conveying

S TR
automatic
baiting
machine

- Bl - Bl - -

Incinerator

MR AREHTAL REE
Brewery and beverage industry Fermenting plant

- B e B - b

| R

iy e BT
Spray finishing Car washing Electroplate factory

cleaning agent




NZAEIFTER IR

For further details, please fulfill the chart below.

Y AR
Customer Undertaker
TERR Tigm

Name of project Address of project
BB (3=

Telephone Fax

BHRm REEXEEY
, SRR Elevation Max relative humidity
Local condition LI ASESI(MPa) BESECO
Local atmospheric pressure Max air temperature
E=2 BE(CC)
« SRR Name Temperature
Gas character 5%%) =S alnd ]
Constituents Ratio of constituent
RE(m’/min) D (mm)
=
Pt Capacity Diameter
Blower's UE TR
parameter S(MMAQ) (r/min)
Pressure Speed
B BBE(V)
Type Voltage
=
ik (o) 5 (12
parameter Power Frequency
REL HE
Pole Others
TRUE D ERTE BRI = TR
Location Indoor install Camping outdoor install
, fEaAs D B RN (TR BEfEnh
Driving mode Belt-driven(Standard) Direct drive
HEER
Other requirement

&E LU EREERA

BESTEIAT,

2LIEREIIME 7 &, BESMES.

Notes: 1. Please fill in the parameter lists as complete as possible.
2.The item with” * "must be filled.



20000 - O0OC

@ liE

KRB RS A B et

RHREWEIE
400-657-9066

BIERR: RAELREMIENREF LIRMERAYEE, BAERMETRE,
BIEP R E R

The data on the brochure is based on the laboratory testing data and
customers' actual operation data in the past. The actual data may be
different in different application conditions.

FUSABMELE, OFRBTEMN, .
We reserve the right to change content without notice.

JIDR (FRE) B R SRS all rights reserved. CY-35




